5.
For a binomial-exponential compound random variable S with parameters q=1/2, m=2, θ=1 use a discrete rounding approximation for the exponential in steps of size 0.1 to estimate Prob[S>0.2]

6.
For the same binomial-exponential compound random variable S as in problem 5 use the same approximation to estimate the coefficient of variation of the stop-loss premium with an attachment point of 0.1

½ =q=-a/(1-a) so a=-1; 2=m=-(b/a+1) so b=3

PN(z)=[1+q(z-1)]m so PN(0.0487706)=0.2749799 when we need it below

1-exp(-0.05)=0.0487706, [1-exp(-0.15)]-[1-exp(-0.05)]=0.0905214, etc.

x
fX(x)

fS(x) 

SS(x)

E[(S-x)+]
E[(S-x)+2]



Panjer

0.0
0.0487706
0.2749799
0.7250201
1.0000000
2.5000000

0.1
0.0905214
0.0474681
0.6775520
0.9274980
2.3072502

0.2
0.0819072
0.0449995
0.6325525 = #5

where 
1.0000000 comes from MS(z)=PN(MX(z))={1+(1/2)[1/(1-z)-1]}2 and MS(1)(0)=1
and 2.5000000 comes from MS(2)(0)=2.5 (use Faa) and 
0.9274980=1.0000000-0.1(0.7250201) and
2.3072502=2.5000000-2(0.1)(0.9274980)-(0.1)2(0.7250201)

So coefficient of variation is σ/μ=[2.3072502-0.92749802]0.5/0.9274980=1.297=#6

